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6.  Explain the law of variable proportion, What are the

causes of the application of this law ? 16

R A Frem & o ) 39 s 3 g 8
b o wor § 7 16

7. Why is the short run average cost curve “U” shaped ?

Describe the relationship between average cost and
marginal cost in long period, 16
s olred arE aw U R w39t w @ 7 e
A 9 A A & e ¥ qerg B oo 591 16

8. Define Monopoly. Explain price and output

determination under Monopoly. 16

CHEER F oty 4 iR @ o 9 ot IaRe

FaioT @ amEn &) 16
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Note : Attempt five questions in all. Question No. 1 is

mmprdsor_};. All guestions carry equal marks.

We ;T G 79T 097 & 9T 7. | o B1 @ 1o # i
7T &

I.  Explain the following in short : 8x2=16

Frefaitia & ady # e 35t . 8x2=16

(a) Define Substitute Goods
AT qEpat @t afoar 2

(b) Define Ordinal utility
S YA # g @

(¢) Explain Diminishing Marginal ratec of

Substitution.

Tl W AT o & A w9
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(ﬂ) Explain relation between Average Cost and
Marginal Cost.
Sea A AT @ woa § Wy & s w1
(e) Define Seihng Cost
@ a & ot

(f) Explain two points of difference between
Monopoly and Monopolistic Competition.
g 91 el sfdfi # 98 & e e
H

(g) Distinguish between returns to factor and

returns to scale. o

A B s S T B e § o we w
(h) Definc utility.

A B afowrer @

Define Managerial economics. Explain the nature and

scope of Managenal economics. 16

R SdE A o 3 S e 3 RE

o A JEA U 16
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What do you mean by elasticity of demand. Explain

methods of measuring price elasticity of demand.
16

g0 & @ T a9 ST 3 7 A @ $iET S A e

# RRd & amn 51 16

What do you mean by eguilibrium of a consumer ?

Explain it with the help of utility analysis. 16
TR & Hgee 3 o oA b7 g R w
TEIGE § AT T 16
What are indifference curves 7 Explain that : 16
e 9% ¢ ¢ e e o 16

(i) Indifference curve slope downwards from left
1o right. |
T T & A @ afe AR @ a g ¥

(it} Indifference curve are convex to the origin
dred T 96 g A #T I=mT B §

(iii} Indiffcrence curve never intersect each other.

R A% WYE W WE-2ET F 9w
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